
           

CDC 3 B CLUB POINTS G NUL P EXEMPT 

P de 

PARTIES + - DIFF 

1er NOEUX 4  15  4 1 1  1 122  650  602  48  

2éme NEUVILLE 1   14  4   2 1 122  541  519  22  

3éme  MARCK 4 13  3 1  2 1 116   712 629  83  

4éme WIMEREUX 3   13  3  1 2 1 114  577  493   84  

5éme WIMEREUX 2   12   2 2  2  1 116   669  634  35 

6éme GUINES 3 11  2 1 3 1 106  615  687  -72  

7éme ABB 1   6     6 1  60  527   750 -223  

 

 

Confrontation direct MARCK 4 a fait nul contre WIMEREUX 3 

Donc points de parties 


